
Figure 8-8  Internal components (3 of 3)

470 8 Parts and diagrams



Table 8-10  Internal components (3 of 3)

Ref Description Part number Qty

1 Support, lifter-drive assembly RC1-0200-020CN 1

2 Duct, fan 2 (right side) (LJ 4300) RC1-0272-000CN 1

2 Duct, fan 2 (right side) (LJ 4250/4350) RC1-3338-000CN 1

3 Guide, left RC1-0273-000CN 1

4 Guide, right RC1-0274-020CN 1

5 Holder, thermistor (plastic) RC1-0342-020CN 1

6 Holder, thermistor (metal) RC1-0343-020CN 1

7 Cover, fan connector RC1-0344-020CN 1

8 Guide, connecting cable RC1-0386-000CN 1

10 Dc controller (LJ 4200) RG1-4236-040CN 1

10 Dc controller (LJ 4250/4350) RM1-1108-000CN 1

10 Dc controller (LJ 4300) RG1-4237-040CN 1

12 Screw, rs, m3x10 XA9-1559-000CN 1

13 Screw, s, m3x8 XA9-1500-000CN 16

14 Fan, right (LJ 4300) RH7-1577-000CN 1

14 Fan, right (LJ 4250/4350) RK2-0280-000CN 1

16 Fan, left (LJ 4200/4300) RH7-1573-000CN 1

16 Fan, left (LJ 4250/4350) RK2-0278-000CN 1

17 Thermistor (LJ 4200/4300) RH7-7116-000CN 1

17 Thermistor (LJ 4250/4350) RK2-0359-000CN 1

18 Spring, tension RC1-0198-000CN 1

19 Microswitch, top cover WC4-5139-000CN 1

20 Bushing, paper delivery RC1-0136-000CN 1

21 Cable, door switch RG1-4213-000CN 1

22 Cover, envelope RC1-0320-000CN 1

23 Cover, inner front, right RC1-0019-000CN 1

25 Fuser, 110-127 V (LJ 4200) RM1-0013-140CN 1

25 Fuser, 110-127 V (LJ 4300) RM1-0101-200CN 1

25 Fuser, 110-127 V (LJ 4250/4350) RM1-1082-000CN 1

25 Fuser, 220-240 V (LJ 4200) RM1-0014-140CN 1

25 Fuser, 220-240 V (LJ 4300) RM1-0102-200CN 1

25 Fuser, 220-240 V (LJ 4250/4350) RM1-1083-000CN 1

26 Cable, fuser (LJ 4200/4200L) RG1-4205-000CN 1

26 Cable, fuser (LJ 4250/4350) RM1-1216-000CN 1

Internal components 471



Ref Description Part number Qty

26 Cable, fuser (LJ 4300) RG1-4231-000CN 1

27 Paper-delivery assembly RM1-0026-040CN 1

28 Duplexing-pendulum assembly RM1-0002-020CN 1

29 Lifter-drive assembly (LJ 4200/4300) RM1-0033-020CN 1

29 Lifter-drive assembly (LJ 4250/4350) RM1-1074-000CN 1

30 Tray 1 pickup assembly (LJ 4200/4300) (also see Figure 8-12

Tray 1 pickup assembly)

RM1-0004-060CN 1

30 Tray 1 pickup assembly (LJ 4250/4350) (also see Figure 8-12

Tray 1 pickup assembly)

RM1-1097-000CN 1

501 Screw, tapping, pan head, m4x10 XB4-7401-007CN 4

502 Screw, tapping, truss head, m4x16 XB4-7401-605CN 2

472 8 Parts and diagrams


